0%92) = WOV D - XTI TION — NYYN

=% 220-1a) ] N DSNN
PIZ OROIN V7T DYPHN NAYNI THPNTIN MIIN N[ 9:00
N2 TYT T 475907 NAYNNA NPV 19910 N -
TPNN HY DI MM D981 NNOYY N0
908 Sy 1 1| 10:20
N2 NT T 47511 NAYNNA HPND 11999190 ~| 10:35
72 MION T AMDION MYN N -
DNND MINA INIY NIN
POIION INON T 2| 11:55
2972 IR VT DININ NNNY NN PN ~| 12:10
Y022 NI T 20 DPITNNODID TIPN N -
DX 1N VT Y INHN — NINN DY 791019 a
PPV 290 13:30
0”908 NPYIN
022 NN 17T 2N — TN PIND MHTHNY MNPN ~| 14:20
YOANTI WTIMN  PION — DN PN MTHNY MNIPN N NNOM N .
739719
n9W DY VT MIYDNI DIMNN-1>2 BIY 2| 15:40
MmN
a+n | 16:00
PIPY 297 199 TINN HY AN N PIPYI 9799 HY 199IDIPAY 1YY 1991090 Pa -
PINN
17:20
17:40
PITN-Y2 ONDID 7T 1IN 1IN TNDT 1 NINNTIY 19N N P51 52y N NOND 1 YITNN-N23 Y0P N _
NIV
19:00




